CPR PLURILINGÜE ABRENTE

1.- Resuelve. 
0,009+434.409+1006,8+99=
888,009-99=
37987-0,098=

2.- Divide y haz la prueba. 
8987,564:734=

0,858:69=

209874647,8: 2,058=

3:58=

3.- Calcula directamente. 
	76,5x100=
	0,453x10=
	10,6x10=

	9,87x1000=
	9,98x1000=
	0,897x100=

	0,98x10=
	0,56x10=
	0,0087x10=

	0,009x100=
	4,9x100=
	6,098x0=

	0,009:100=
	0,009:1000=
	9,09:1000=

	12,09:10=
	0,8:100=
	1:10000=



	0,98:10=
	0,008:100=
	98,7x30=

	0,65:100=
	9,8:100=
	9,09x40=

	7,98:1000=
	8,70:10=
	0,89:60=

	89:10=
	60:1000=
	8,76x700=

	10000:1000=
	4,5:1000=
	0,546x800=

	100:10=
	0,09:10=
	2,008x90=

	100:100=
	580:10=
	8,7x20=

	1:10=
	300:100=
	56,7x100=
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